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There are in all 30 questions in this question paper. All questions are compulsory.

Question No. I to 1€} carry one mark each. Q. No. {110 15 carry two marks each, Q. No. 16 to
25 carry three marks each and Q. No. 26 to 30 carry six marks each.

QuestionNo. 1 to 5 are multiple choice questions. Here four options are given in each guestion.

Write the correct option in your answer book.

There is no overall choice in question paper, however, an internal choice has been provided in two
questions of 2 marks, three questions of 3 marks and three questions of 6 marks each. You have to

attempt only one of the given choices in such questions.
In questions on construction, drawing should be ncat and exactly as per the given measurcment.

Use of calculator is not permitted.
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1. e ¥ ofedg dwm 2 — 1

In following. the rational number is -

B 2 (i) wm (iiiy 0.375 (iv) 5 - 3

2 fesd wgue x4+ Ix— 10 & YD B YU T — i
Product of the zeroes of quadratic polynomial x*+ 7x+ 1015 —
i 1 iy 7 (i) 10 iv) 17

30 fEars RO 20 - 4x - 3= 0 3T f[AfdEiey 8 — !
The discriminant of quadratic equation 2x° - 4x + 3 =0 will be -
@ 24 (m 16 fiy 3 (iv) -8

4 I9® TP favg ur faaa el vy 8 aaxd g - 1
How many tangents can be there at a point of ¢ircle —
YN m 2 iy 3 {iv) 4

5. 9V gedl @] widdl gl B - !
The probability of impossible event is -
@ 0 () 1 iy -1 (iv) oo

6. TAETTR SN (AP) 1L 407,10 L BT 10TT U ST BIRTU 1
Find the 10thterm ol AP 1,4.7, 10 ... .

. 3
7. afesinA- < <1 cos A BT ATH ST BT | 1

L

IfsinA= S then calculale cos A

. AD 2, _ N
8 B # DL BC @on iDE =2 ¥R EC=6 99 1 @ AR T AT i
o Al 2 )
In the figure, DE i BC and DE -3 ITEC = 6 cm, find Al:.
9, SEE 7 T iR SR WRY 10 W 9T 979 B AT §a dihag | 1

Find the volume of a ¢vlinder having height 7 cm and base diameter 10 em.
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10. =1 |9l § x &1 71 3a BT 1

11.

12.

13.

14.

Find the value of x in tollowing table —

g FIRATT SERINEITING)
Term Frequency Cumulative Frequency
2 6 6
4 20 26
6 24 50
8 28 X
10 15 93
a
quwﬁj—aﬂ? B AT IR T diog 6 e e g gm g1 et Yo @
2
ﬁiwuﬁﬁi}am{m%‘, AN € AT FOT § 2
a b %
On comparing the ratios ,"d“z‘ >, and ", find out whether the lines representing the following pair of
2 2

linear equations intcrsect at a point, are parallel or coincident.
X+2y—4 =0
2x+4y~-12 = 0

g cos O = E?ﬁcotU+co:;ucO$THTﬂ'§ﬂﬁ Gl 2
12

Ifcos 8= ]—,; , find the value of cot § + cosec 0.

y-38 9R 98 IR A Y o g (6, 5) T (- 4, 3) 9 HEGRY B | 2

Find a point on the y-axis which is equidistant from the point (6, 5) and (- 4, 3).
Ygar (OR)
fasgall (4,~ D3R (-2, - 3) BT T It YorEve @ 7y g @ Rdwie wa PR

Find the co-ordinate of mid point of the line joining points (4, — Dy and (- 2, - 3).

< Reetrdl |iiten SR AT <9 &7 v 39 e €| 98 9id @ & Fia g7 %7 o 9 wifaar
0.62 &1 WA & S B wiawd 3 § 7 2
Twao players, Sangeeta and Reshma, play a tennis match. It is known that the probability of Sangeeta winning
the match is 0.62. What is the probability of Reshma winning the match.
FGT (OR)

U ot H 3T SR S wrel M 21 39 O § 9 Us g urgwedr Meel! 9l § | gway miidd
Far 8 & g one 8 ?

Abag contains 3 red balls and 5 black balls. A ball is drawn at random trom the bag. What is the probability
that the ball drawn is red.
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S HH BT BT U g9 DR a8 9 g¥ Rerd ve Rg 9 g9 1R wel v T DI AT
S5y | 2
Draw a circle of radius 5 em. Trom a point § cm away froni its centre, construct the pair of tangents to
the circle.

gioers farsT T iRed &1 WANT #53d 4830 el 750 &1 HOF S1d &ifg |
Usmg Euclid’s division algorithm, {ind HCF of 4830 and 759.

Lad

AT (OR)
g dfew f6 642 e ouReg e

Prove that 6 4 /2 is an irrational number.

T S ST s SN e 3T 27 3R oEwe 182 8 3
Find two numbers whose sum is 27 and product is 182,

L Xy L Xy _
HAHI] =+ =5 3R —~7 =6 & 8 PIATY | 3

7 3 2 9
_ : F X ¥y
Seclve the equations : il and =% = 6.
7 3 2 9

tad

TH IR AV (AP) P U 22 ual & AT T aifony, fRe d = 7 ek 224 ug 149 ¥

Iind the sum of first 22 terms of an A.P. in which d = 7 and 22nd term is 149

Rie aifs ¢ Cos A +_1__+ sin A

d

; =2sec A
Prove that ; 1+sin A cos A
31e7ar (OR)
e BTG - I+sin A
td {sec A + tan A)2 =— 5}11
Prove that : 1—sin A

. SV fovg @ e ara IRTT o el (6, -9) @R (4, 6) @1 FE arer YWrEve @ 3 - 4§ ar

IESISCRCEGIES 3
Find the co-ordinates of the point which divides internally the line joining the points (6,9} and (4, 6) in the

ratio 3 : 4.

AL 1) (7, 23012, 2) SR (7. 21) X% 9qd @ BNl » e ¥ o7 fag it ags @1

B 132 T BIHE BN 3

1, D7, -3), (12, 2)and (7, 21) are the co-ordinates of the vertices of a quadrilateral. prove that the arca

of quadrilateral 1s 132 square uni,
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ABCD o w#er ¢ fored AB | DC & @21 399 fiodf wek Rg 0w 4 ?

S S
sre o # | R At 0 = €O LN s

BO DO b ¢
ABCD is atrapezium in which AB || DC and its diagonals intersect each other at the point 0. Prove that

AO €O
BO DO

@ Y T GRS ABC T w6 U Brgw ) @ @i, e gont Ry T e A dme

el

HoArtl @l Z El

-

)
Construct atriangle similar to a given triangle ABC with its sides equal to " of the corresponding sides of the

triangle ABC.

(%]

ot waer 7 w60 o) 14 99 & 37 LAOC = 40°

Find the area of the shaded region in figure, if radii of the two concentric circles with

centre O are 7 em and 14 em respectively and ZAQC = 40°.

34T (OR)

U ofH gl ¥ 8 W Bl § SR WD SR B o 2 A & vig @ Raere] v M B
w9 W @S AT F | el BT wTE S BT |
Aright circular conc is 8 em high and the radius of its base is 2 cm. The cone is melted and recast into

the shape of 2 sphere. Find the diameter of the sphere.

ﬁaa&mrﬁgaa—ﬁmw—%ﬁﬁmﬁﬁhﬁﬁmlfmwlﬁmﬁaﬁmm
g3 Bl g A T ot S odae ey sme R 6
After five years, the age of Mohan will be three times that of his son. Five vears ago, Mohan’s age was
scven times that of his son. Find out their present ages.

IUaT (OR)

TP YIS O WA aTe 3 360 T S o v = 21 AR uE w10 &/ gver afies e
1 aE S AT H 3 "UeT W o) | Vel 9 et s @t |

Atrain travels 360 kin at a uniform speed. Ifthe speed had been 10 km/h more, 1t would have taken 3 hours
less for the same journey. Find the speed of the train.
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7 Bo 3 ¥gT B RIER ¥ UF R @ BRGY &1 S0 BV 60° & 3R B UIg & AGAAT P10l
45° | SR B FATg T DI | 6
From the top of a 7 m high building, the angle of elevation of the top of a tower is 60° and angle of
depression of its foot is 45°. Determine the height of the tower.

FUdar (OR)
HR @ AR 3 R TE TR @ F 100 Ho TAT 150 Ho B g W Rergy 21 fagail & MR & R
& I~ B b BT E | R SR AR B F=E 506 WMo gl

The angles of elevation of the top of a tower from two points at a distance of 100 mand 150 m from the base
of the tower and in the same straight line with it are complementary. Prove that the height of the tower is

506 m.
g R 6 37 GIHT Briol B Sl B T SAd) HIT HIeadI & Fard @1 aF &Il
gl 6

Prove that the ratio of the areas of two similar triangles is equal 10 the square of the ratio of their corresponding
medians.

aerdT (OR)

i Fr § oo ABCD @ iR Re 0 @ R ¥ Rig P 5
OB? + OD? = 0A* + OC?,

In the adjoining figure, O is any point inside a rectangle ABCD. Prove that
OB2 + OD? = OA? + OC™.

FEHG B U TR BT P T qeHER ¥ 3R FR F HareR & | Al JeTER AT BT @ R
S FHa 126 Mo 3R 5 o ¥ Tt TY BN T HAE 21 Wo § W T BN TN | HYI FIS
T S ST AT | FeF B 50 B Wiy @l Wex A R W FUS FT qed N I BN 6

The lower part of a tent of a circus is in the cylindrical shape and upper part is conical. If the diameter and
height of the cylindrical part are 126 m and 5 m respectively and the total height of the tent 1s
21 m, find the area of the cloth used for making the tent. Alsa find the cost of the cloth at the rate of
Rs. 50 per m".
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fafafaa sifrel & Agd Fd BN ¢ 6
Find the median for the following data :
T FATA
) 20-30 30-40 | 40-30 | 50-60 60-70 | 70-80 80-90 | 90-100
Class interval
‘ !‘ : -
4 12 14 16 20 16 10 8
Frequency

oo ok ko ok ok ok
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